W09 NOYSOBYM} MMM

Model cLM Effst Model| CLM
SMERSTE
(3mMEME )
2Z SEPMEZN Y1
ES L T @ _
&

va
-
AR
|
[E==
L
91
£
[
OF
8

z
Van)
N\~
208117 ‘ oB2f7
— = g EED Y
BE®R (EmE) C o HEARERAT
i EBHE C Y2 (kR &)
04 L:xm =2 T34 A
05 TR B RN i
aM o - e _ i
= cl: R o2 o "
« ESRE(R IR | 4
by Ro&D [ quu, T H
L RHEREE ‘ NWE r
] E
n = CLM04  CLMO5 ~ CLMO6 = CLM10  CLM16 z ‘LJ 2 | l
MELRES GRIEH TMPa i) KN 3.7 5.0 6.7 1.1 16.6 283 ot - 5
BT 9
LR mm 26 30 35 45 55 D) i
p <| 40)
EHE mm 12 14 16 20 22 O = F = IS
METR (FH) cm? 53 7.1 9.6 159 238 4 o
21 mm 205 235 26 205 35 - >[ {} ° h
FETRE mm 17.5 205 23 26.5 32 T
- KEBRABY A-oW
TRAE mm 3 3 3 3 3 4WURLLEFL e o
BAME L/min 1.1 1.7 26 5.1 9.1 ZORE A <8 ~
ETS : 10. 16. ] 46. : =
HEEE ‘ o 09 66 20 69 832 r ENSEND (EF) —
‘ pii e cm?® 8.6 13.0 19.8 37.7 69.9 |
ERMHASREAE GBESX129) Nem 7 7 12 12 29 OREFC ‘
8GG WS END (HAR) oG f7
@ BEERE:1.5~7 MPa & RIEMTE:10.5 MPa
& {EARERE 0~70 C (i AR A PR R AR (1024 F150-VG32) BUSEFSO . N
SRR T AL xR - Tk
o
S RREI AT o617
BASEFSER
13
HASEFSA 2

CLMO-FEIEISME . CLMO-LBFCLMO-RE!
FENREAEARES, HRRTHECMO-F

024 (CLMCI-F/CLMC-R) A ARESD

PCD.22

. o
-
_ o Sl Y LEm FEE RAR
REHERE ST . B
AR S MM T o s —
(GeHEH 3 - 5 Ell a % %
2M3mERES
o

SEMBESD
RASERSA e o
35 024 (CLML ) R3 & T SR B IR e

iR
(@i

W02 NOYSORYMI MMM




W09 NOYSORYMY MMM

Model cLM &7

sH% o
i s CLMO4-00T CLMO5-00T CLMO6-CIT CcLm10-00T CLm16-00T
A 96.5 106 108 124 139.5
B 45 51 60 70 85
C 54 61 69 81 94.5
D 315 355 39 46 52
E 225 255 30 35 425
F 34 40 47 55 63
o6 40 85 48 55 438 65 42 75 48
2GG 39.4 474 544 64.4 74.4
oH 12 14 16 20 22
K 41 43 425 49 47.5
KK 31.5 31.5 31.5 315 31.5
L 25 28 28 30 37
M 50 57 59.5 67 82
N 5.5 6 6 8 10
R1 1 12 12 13 16
R2 18 22 24 30 32
R3 26 30 335 39.5 45
S 12,5 13.5 13.5 17.5 22
ol 1 12 12 15 19
U (MIB%E) 6 6 8 10 1
\ 15.5 16.5 13.5 15.5 17.5
Vi 1 13 15 19 25
V2 30.5 345 355 39 48
V3 22 26 30 355 43.5
v4 21 21 28 37 40
oW 55 55 6.8 6.8 9
w1 M6X1 M6x1 M8x1.25 M8X1.25 M10X1.5
oX 9.5 9.5 1 1 14
oY 72 81 88 106 116
Y1 G1/8 G1/8 G1/8 G1/8 Gl1/4
Y2 38 3.8 3.8 3.8 4.8
oY3 14 14 14 14 19
z a3 [«] a5 C4.5 c10
21 15° 157 15° 12° 15°
22 32 38 45 535 65
3 16 19.5 22 27.5 325
24 25 25 25 33 3.3
5 30° 30° 30° 30° 10°
081 i i ) 10 8 12 8
082 o328 o338 6318 ] 10 2
B3 () STW-6 STW-6 STW-8 STW-10 STW-12
B4 (%) STW-6 STW-6 STW-6 STW-8 STW-10
CA 44.5 51 53.5 59 72
CB 50.2 61.2 7 78.7 90.8
cC 77.7 92.4 101.9 11.4 130.8
D 470° AN #70° #70° #69°
HA 12 12 16 19 22
HG 16 18.5 21 24.5 30
O HFA (AR 8 EHs90) PS5 PS5 PS5 P7 P7
OF/EEFB (iR FEHs70) AS568-029 AS568-031 AS568-034 AS568-037 AS568-040
OREFC (iR MEEHs70) AS568-028 AS568-031 AS568-033 AS568-036 AS568-039

37

27402

REAMIE
(3rUEmA )
E
2-Max. oF
o) ]
MIRETLE,
WM
o
fx YX
ot
oA 8 30
oG H8 .
2, NS EREED 04~08.5 y
; §)5 (R u: +C
- & oz
;i pa—
= B
I 1 S o
o :
gl " . E
L0 3
Z &
S
3 T WS ERSEED
WEMTEE o
B ERHEEN 04~085 z
WA E D () =
RN * RS EASEED
Min. 04
ERLRER XX NS EH S E RO E F AR E. . )
BRESH EALEEE XX
BHE (mm)
a5 CLMO4-CIT CLMO5-CIT CLMO6-CIT CLM10-0IT CLM16-0IT
oA 408 49 56 66 76
B 34 40 47 55 63
4 M5 M5 M6 M6 M8
D 18 2 24 30 32
E 26 30 335 39.5 45
oF 3 3 3 5 5
oG 40 5% 48 0" 55 G 65 5 75 %%
oH 40.6 486 55.6 65.6 75.6
J 415 435 43 49.5 48
L 1.2 1.5 1.5 1.5 1.5
ST, MEREALREABMRRERORE. NRE  SSERELAEARC/BELMRIER.
BERRIIT S, AT EERE LM S BUREN .
SATHILOKBEZE MY, LABTINERMT. 5
S, SERELMIMENEHARDFRAMTE R
AHER NS . FAIESRHEOR
Rel/8tgsk
38

W02 NOYSORYMI MMM




W09 NOYSOBYM} MMM

Model  CLM EF={eEa(
SMERSTE
(RERWE )
2z EEMHERZD V1
pd ==
5
D
>4
2-081f7 B: A ERD Y1
3 D
C Y2 (5L R H ) .
| -
1 Y \\/f (=)
HG| . | B4 &| 15
_ LTy # w
4 h o\ \
1 E !
! I
=l “-JT vi £ ! gy ) @ 'y
283 H &
< = SN 9
< 40X = =)
I = 1 iy
Hi =
1 ] & i |- &
>
sepsrngy o] | E‘
AWTRLLBFL ¥
2OREFA N
RMSFEND (R 7
0Gf7
RESEFSA
B3 R
0GG
0Gf7
RMSERSO Y M . -
024 (CLML-F/CLMC-R) JR— & AEACIMO-FRASMNE . CLMO-LEFCLMO-RE
- BREBENREFOARS, AARTHECAMO-F
PCD.22 T .
>
o © Q L& FigTE R:AM
4y Pl
RS =
- N
2MBAREG
SEMBEZD
RASERSA S s B A
e 5 LRSI EET L eSS U

39

Model CLM EHAKER(AER
SHE (o)
B CLM04-CIC CLMO5-CIC CLM06-IC CLM10-CIC CLM16-01C
A 96 106 108 124 139.5
B 45 51 60 70 85
C 54 61 69 81 94.5
D 315 35.5 39 46 52
E 225 255 30 35 425
F 34 40 47 55 63
oG 40 33 48 5% 55 6 65 35 75 3%
2GG 39.4 47.4 54.4 64.4 74.4
oH 12 14 16 20 22
K 40.5 43 425 49 47.5
KK 19.5 21 235 25 25
L 25 28 28 30 37
M 50 57 59.5 67 82
N 55 6 6 8 10
R1 m 12 12 13 16
R2 18 22 24 30 32
R3 26 30 335 39.5 45
S 12,5 13.5 13.5 17.5 22
oT [ 12 12 15 19
U (S, 6 6 8 10 1
v 15.5 16.5 135 15.5 17.5
vi 1 13 15 19 25
v2 30.5 345 35.5 39 48
V3 22 26 30 35.5 435
va 21 21 28 37 40
oW 55 55 6.8 6.8 9
wi M6x 1 M6x 1 M8X1.25 M8x1.25 M10x1.5
oX 9.5 9.5 11 11 14
oY 72 81 88 106 116
i G1/8 G1/8 G1/8 G1/8 G1/4
Y2 3.8 3.8 3.8 3.8 4.8
ov3 14 14 14 14 19
z a a as cas clo
Z1 15° 15° 15° 12° 15°
22 32 38 45 53.5 65
z3 16 195 22 27.5 325
24 25 25 25 33 33
z5 30° 30° 30° 30° 10°
081 [ 680 8 3% 10388 125385
082 6 3858 6 5588 656 ER 10 358
B3 () STW-6 STW-6 STW-8 STW-10 STW-12
B4 (R ) STW-6 STW-6 STW-6 STW-8 STW-10
A 44.5 51 53.5 59 72
B 50.2 61.2 7.7 78.7 90.8
cc 77.7 924 101.9 114 130.8
(&) #70° “71° #%70° #70° #69°
HA 12 12 16 19 22
HG 16 185 21 245 30
A (252 FAEHs90) PS5 P5 PS P7 P7
O HIFB (Mif B EHs70) AS568-029 AS568-031 AS568-034 AS568-037 AS568-040
OFHIFC (F12R WIEHs70) AS568-028 AS568-031 AS568-033 AS568-036 AS568-039
40

W02 NOYSORYMI MMM




W09 NOYSOBYM} MMM

Model CLM EHRREH(MERBE)
REAMIE
(RERME )
3
2-Max. oF
O, &
Tx  °
1
4C
o8
MIRETLE,
EOMIEERDS
oA 8 300
oGH8 | N .
218 RNSE ()
g REAMTEE

- ol
I |
I

I

n; L
= ==

NGl .,

Min. K

Min.J

IL # RNE RO BT SR XX
NEMTEE
WNSERERED Min. o4
* RN ED —
EEMIEE
* RMSEASEED
Min. o4
BB XX RRER RO E T NELRE.
(mm)
R CLMO4-CIC | CLMO05-CIC | CLMO6-CIC | CLM10-CIC CLM16-C1C
oA 408 49 56 66 76
B 34 40 47 55 63
c M5 M5 M6 M6 M8
D 18 22 24 30 32
E 26 30 335 395 45
of 3 3 3 5 5
oG 40 0 48 ¢ 55 9% 65 0" 759
H 15 16.5 19 20.5 20.5
HH 15.7 17.4 19.9 214 214
J 41 435 43 49.5 48
K 19.5 21 235 25 25
L 1.2 1.5 15 1.5 15

o RER, NERRILREE AL

* ATHIEOREZEHG, w
H#s. BARSRGORE
41

DBME. MBDREAKIS, WATEEEREAHSFBORAN .

FBATI AN B, SEREAMIMENEHLRHER

K FERE:
1 070 073 076 079 082

CGC — N2, ¢ %000

3 1213 14 15 16

IS 3 IERT TN WHI TMPa
- 2 Expansion clamp
;2 model
: 3+
. aMmE CGC

E CGC-N21E CGC-N22E CGC-N23E
F{ERE 070 073| 076 079 082 085 09 10 11 12 13 12| 13| 14 15 16
LS 2+ EUSH
IS (HEBATMPaES) N |19 2.24 [304] 3.54 [ 7.50
AR (HEATMPasS) W | 67 | 78 o5 ] i | 234
MR EFTIZ mm 03
RETIE mm 0.2
S ET @ 17 [ 27 [ 58
\ o o 23 \ 35 \ 72
REHRSE mm +0.5
I A R MPa 03
t B MPa 02
HE kg 0.38 ‘ 0.50 ‘ 0.83
& N-m 35 | 7 | 12
IHHR $8. W% (HRC2SU )R A EMHY
RHRINFERIE mm | 67707376 |79 [82 |87 [ 97 [107]117]127[117[127 187147157
REFBAFERE mm | 7.4 ‘ 7.7 ‘ 8.0 ‘ 83 ‘ 86 ‘ 9.2 ‘ 9.7 ‘10.7‘11.7‘12.7‘13.7‘12.7‘13.7‘14.7‘15.7‘16.7
FAEREIE (RRAE) 3 U
FERBEE 0.1° AT

@ {£F3hEEE: 1.5-7 MPa (CGC-N21E070 . CGC-N22E085:1.5-6 MPa) @ {R&#iif®:10.5 MPa (CGC-N21E070 . CGC-N22E085:9 MPa)

® EAMFAE: 0-70C

£

8
7 CGCN23E
6
s
zZ
=4
B CGC-N22E
B 3
#
2
; CGC-N21E
15 2 3 5 6

4
it EE(MPa)

@ {5 RS HE U R B (188 F1S0-VG32)

BE MPa . 3 4|5 6|7

CGC-N21E®%EN |y

F=0320xP: B 0.96/1.28/1.60(1.92|2.24

CGC-N22E KRN kN

F=0.506xP: W 1.52/2.02/2.53|3.04 | 3.54

3.22|4.29|5.36|6.43| 7.50

CGC-N23E XEH
F=1.072xP: il kN

@ CGC-N21E070. CGC-N22E085){E it/ %1.5~6 MPa.

42

W02 NOYSORYMI MMM




